
Bath Hardware
INSTALLATION GUIDE 

& TEMPLATE

modern-matter.com



PARTS INCLUDED

RECOMMENDED TOOLS - NOT INCLUDED

A B D
Mounting 

Wood Screws

C
Mounting Bracket

E
Allen Key

Mounting 
Wall Anchors

Set Screw

3/8” Drill Bits Phillips Screwdriver

Level Measuring Tape

Pencil

Hammer



A

1

2

3

TOWEL BAR 
10” C-C, 18” C-C or 24” C-C

PARTS INCLUDED WITH TOWEL BAR SETS

MOUNTED 18” or 24” TOWEL BAR

INSTALLATION INSTRUCTIONS

x4

B

B

A

E

D

C

C D E

x4 x2 x2 x1

Mark Hardware Placement - Use the installation template 
on the back of this brochure and a level to determine the 
desired hardware location. Mark hole positions based on the 
hardware’s center-to-center specifications.

In Drywall - Drill a pilot hole using a 3/8” drill bit. Insert the wall 
anchor into the hole and gently tap it into the wall until it’s 
secure. Install the mounting bracket to the wall by inserting the 
wood screws into the wall anchors. Tighten the screws clock-
wise with a Phillips screwdriver until snug.

In Stud - Secure the mounting bracket to the wall with the 
provided wood screws. Tighten the screws clockwise with a 
Phillips screwdriver until snug. Repeat steps on the other side.

Attach Hardware - Slide the hardware onto the brackets and 
tighten the mounting set screws with the supplied Allen key.



TOWEL RING

PARTS INCLUDED WITH TOWEL RING SETS

MOUNTED 18” or 24” TOWEL RING

INSTALLATION INSTRUCTIONS

x2

A B

B

A

E

D

C

C D E

x2 x1 x1 x1

1

2

3

Mark Hardware Placement - Use the installation template on 
the back of this brochure to determine the desired hardware 
location.

In Drywall - Drill a pilot hole using a 3/8” drill bit. Insert the wall 
anchor into the hole and gently tap it into the wall until it’s 
secure. Install the mounting bracket to the wall by inserting the 
wood screws into the wall anchors. Tighten the screws clock-
wise with a Phillips screwdriver until snug.

In Stud - Secure the mounting bracket to the wall with the 
provided wood screws. Tighten the screws clockwise with a 
Phillips screwdriver until snug.

Attach Hardware - Slide the hardware onto the brackets and 
tighten the mounting set screws with the supplied Allen key.



1

2

3

A

x4

B

B

A

E

C

x4

TOILET PAPER HOLDER
SPRING BAR

PARTS INCLUDED WITH TOILET PAPER HOLDER

TOILET PAPER HOLDER - SPRING ARM

INSTALLATION INSTRUCTIONS

D

C

D E

x2 x2 x1

Mark Hardware Placement - Use the installation template 
on the back of this brochure and a level to determine the 
desired hardware location. Mark hole positions based on the 
hardware’s center-to-center specifications.

In Drywall - Drill a pilot hole using a 3/8” drill bit. Insert the wall 
anchor into the hole and gently tap it into the wall until it’s 
secure. Install the mounting bracket to the wall by inserting the 
wood screws into the wall anchors. Tighten the screws clock-
wise with a Phillips screwdriver until snug.

In Stud - Secure the mounting bracket to the wall with the 
provided wood screws. Tighten the screws clockwise with a 
Phillips screwdriver until snug. Repeat steps on the other side.

Attach Hardware - Slide the hardware onto the brackets and 
tighten the mounting set screws with the supplied Allen key.



1

2

3

A

C

D

TOILET PAPER HOLDER
SWING ARM

PARTS INCLUDED WITH TOILET PAPER HOLDER

TOILET PAPER HOLDER - SWING ARM

INSTALLATION INSTRUCTIONS

x2

B

B

A

E

C D E

x2 x1 x1 x1

Mark Hardware Placement - Use the installation template on 
the back of this brochure to determine the desired hardware 
location.

In Drywall - Drill a pilot hole using a 3/8” drill bit. Insert the wall 
anchor into the hole and gently tap it into the wall until it’s 
secure. Install the mounting bracket to the wall by inserting the 
wood screws into the wall anchors. Tighten the screws clock-
wise with a Phillips screwdriver until snug.

In Stud - Secure the mounting bracket to the wall with the 
provided wood screws. Tighten the screws clockwise with a 
Phillips screwdriver until snug.

Attach Hardware - Slide the hardware onto the brackets and 
tighten the mounting set screws with the supplied Allen key.



1

2

3

ROBE HOOK

Mark Hardware Placement - Use the installation template on 
the back of this brochure to determine the desired hardware 
location.

In Drywall - Drill a pilot hole using a 3/8” drill bit. Insert the wall 
anchor into the hole and gently tap it into the wall until it’s 
secure. Install the mounting bracket to the wall by inserting the 
wood screws into the wall anchors. Tighten the screws clock-
wise with a Phillips screwdriver until snug.

In Stud - Secure the mounting bracket to the wall with the 
provided wood screws. Tighten the screws clockwise with a 
Phillips screwdriver until snug.

Attach Hardware - Slide the hardware onto the brackets and 
tighten the mounting set screws with the supplied Allen key.

INSTALLATION INSTRUCTIONS

A

PARTS INCLUDED WITH ROBE HOOK

ROBE HOOK

x4

B

B

A

E

D

C

C D E

x4 x2 x2 x1



CARE & CLEANING
For all care and cleaning, use a non-abrasive, lint-free, or microfiber cloth 
that won’t scratch the hardware’s finish. Regularly dust your hardware to 
maintain its appearance. If needed, clean with a slightly damp cloth and mild 
soap, then dry thoroughly. Designs with gemstones, lucite, or wood should be 
cleaned with a slightly damp, nonabrasive cloth and mild soapy water.

CHARACTERISTICS AND CARE OF LIVING FINISHES
Unlacquered Brass is a living finish that naturally develops a patina, creating 
a unique and beautifully aged look. This aging process is part of the finish’s 
charm and will vary depending on humidity levels and frequency of use. If you 
prefer a brighter, more refined appearance, use a brass wadding polish 
according to the manufacturer’s instructions. This will e�ortlessly restore the 
finish’s original shine 
while preserving the integrity of the metal.

CHARACTERISTICS AND CARE OF LACQUERED FINISHES 
Polished brass, polished nickel, and burnished brass (for bath hardware only) 
are lacquered finishes and will not develop a patina over time. Clean using 
the general care instructions above.

WARRANTY POLICY
At Modern Matter, we are committed to providing our customers with the 
highestquality hardware and exceptional customer service. We understand 
that sometimes products may not meet your expectations,
and we are here to make the return process hassle-free.

OUR COMMITMENT TO QUALITY
We stand behind the exceptional craftsmanship of our products. Modern 
Matter warrants to the original purchaser or initial homeowner:

5-Year Mechanism Warranty - We warrant all mechanisms used in our 
hardware to be free from defects in material and workmanship
for a period of five years from the date of purchase for residential use.

1-Year Lacquer Finish Warranty - We warrant our lacquered finishes to be 
free from defects in material and workmanship for a period of one year from 
the date of purchase for residential use.

No Warranty on Living Finishes - Living finishes, by their nature, will change 
and develop a patina over time. We cannot o�er a warranty on these natural 
aesthetic changes.

1-Year Warranty on Alternative Materials -  We o�er a one-year warranty on 
all alternative materials, including: Gemstones, Porcelain,
Wood, Acrylic, Rattan, Enamel, and Leather.


